


















Find the missing ONE (?)

A. E7V

B. V2E

C. VE5

D. VE7
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ZA5, Y4B, XC6, W3D, _____



Shyam walks 7 km. in the east. Then he turns to his right and moves 20 km, then 

he turns to his left and moves 5 km, then  he turns to his left and moves 11 km. 

and then again he turned to his left and moves 12 km. Now in which direction is 

he from his starting point and how far ?

श्याम 7 किमी पूर्व में जाता है। किर र्ह अपने दाकहनेओर मुड़ता हैऔर 20 किमी चलता है, किर र्ह
अपने बाएंओर मुड़ता हैऔर 5 किमी चलता है, किर र्ह अपने बाएंओर मुड़ता हैऔर 11 किमी
चलता हैऔर किर र्ह दुबारा अपने बाएंओर मुड़ता हैऔर 12 किमी िी दूरी चलता है। अब र्ह
प्रारंकिि कबंदु से किस कदशा में और कितनी दूर है?
(1) 9 km South

(2) 64 km East 

(3) 20 km west                             

(4) 7 km south

(5) None of these
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Mr. Khan moves towards South-East a distance of 7 km, then he moves 

towards West and travels a distance of 14 km. From here he moves 

towards North-West a distance of 7 km and finally he moves a distance of 

4 km towards east. How far is he now from the starting point?
श्रीमानखान दकिण-पूर्व िी तरि 7 किमी िी दूरी पर चले जाते हैं, किर र्ह पकिमिीओर

बढ़ते हैऔर 14 किमी िी दूरी तय िरते है। यहां से र्ह उत्तर-पकिमिी तरि 7 किमी िी
दूरी तय िरते हैऔर अंततः र्ह पूर्व िीओर 4 किमी िी दूरी तयिरता है। अब र्ह
शुरुआती कबंदु से कितनी दूरी पर है?
(1) 3 km                                             

(2) 4 km

(3) 10 km                                           

(4) 11 km

(5) None of these 



Find the option which should replace (?)

16 : 124  :: 11 : ?

(A) 88

(B) 86

(C) 24
(D) 22



Find the option which should replace (?)
324 + 289 = 35

441 + 484 =  43

625 + 400 = 45

256 + 729 = ?

(A) 29

(B) 43

(C) 40

(D) 37



Find the option which should replace (?)
1 + 4 = 51

8 + 2 = 06

3 + 6 = 72

9 + 7 = ?

(A) 37

(B) 49

(C) 32

(D) 23



The total of the ages of Amar, Akbar and Anthony is 80 years. 
What was the total of their ages three years ago ?
अमर, अिबरऔर एंथोनी िी िुलआयु 80 र्र्व है। तीन र्र्व पूर्व
उनिीआयुिा योग कितना था?
A.71 years
B.72 years
C.74 years
D.77 years



If you write down all the numbers from 1 to 100, then how many 
times do you write 3 ?
यकदआप 1 से 100 तििी सिी संख्याएँ कलख दें, तोआप 3िो
कितनी बार कलखेंगे?
A.11
B.18
C.20
D.21



We have 16 columns and 18 rows of students in a 

playground and distance between the two students is 

1.5metres. The length of the row of students is
हमारे पास एि खेल िे मैदान में छात्ो ं िे 16 सं्तिऔर 18 पंक्तियां हैं

और दो छात्ो ं िे बीचिी दूरी 1.5 मीटर है। छात्ो ंिी पंक्तििी लंबाई

है-
(A) 20.5 m                 (B) 22.5 m

(C) 22 m                    (D) 25.5 m



A school has 2100 students. For every 20 students there 

is one class monitor. The number of monitors in the 

school is
एिसू्कल में 2100 छात् हैं। प्रते्यि 20 छात्ो ं िे कलए एिििािा

मॉनीटर होता है। सू्कल में मॉनीटरिी संख्याक्या है-
(A) 100 (B) 75

(C) 80 (D) 85



In an examination, a student scores 4 marks for every correct answer and

loses 1 mark for every wrong answer. If he attempts in all 60 question and

secures 130 marks, the number of question he attempts correctly, is
एि परीिा में, एि छात् प्रते्यि सही उत्तर िे कलए 4 अंि स्कोर िरता है और हर गलत

उत्तर िे कलए 1 अंि खो देता है। यकद र्ह सिी 60 प्रश्ो ं में प्रयास िरता है और 130 अंिो ं
िो सुरकितिरता है, तो उस िे सही प्रश्ो ंिी संख्याक्या होगी-
(A) 35 (B) 38

(C) 40 (D) 42



Anuj is 5 years older to Barkha and 7 years younger to

Chandan, while Barkha and Dheeraj are twins. How

many years older is Chandan to Dheeraj ?
अनुज बरखा से 5 साल बड़ा है और चंदन से 7 साल छोटा हैं, जबकि
बरखाऔर धीरज जुड़र्ा हैं। चंदन से धीरज कितने साल बड़ा हैं?
(A) 10                            (B) 18

(C) 14                            (D) 12



A#B means A is the father of B. (A, B िा कपता है)
A%B means A is the sister of B. (A, B िी बहन है)
A@B means A is the wife of B. (A, B िी पत्नी है)
A*B means A is the brother of B. (A, B िा िाई है)
A&B means A is the son of B. (A B िा पुत् है)

Which of the following means A is the grandfather of R?
कनम्न में से किसिा अथव है A,R िा दादा है ? 

(1) F&A@J#K%R
(2) U*R%H&A%K
(3) A@H#J*U%R
(4) A@H#K*M#R
(5) A#B*C#R%H


